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Question Type-01: 1@l w4 wr4r FMareg wzo! Ti513

Formula & Concept: -

> (P coT® AT Boifge Gl Aot spars afiba wmer ac swdRwR o0 Gl a2
), © 93 A | QWA AT T L, M @92 T

> [S3-R%) = [&9 x @] = [MLT-1]

> [T ] = [39] x (7% 7] = [MLPT2)

> [AT-SEEy] = 1T _ LT _ ey
| o g o L]

GBI Tl '8 0T TTAR WA F67 IBUTEX’14-15|

(a) MLT™? (b) L (c) ML2T ™2 (d) ML™"

TN () 1= S = L

STYR FAS[A W@ T @FHD? |Ans: b] [CUET’13-14, RUET12-13]
(a) ML*T19~2 (b) ML?T-29-1 (c) ML~1T-29"! (d) ML, 2T~29"! (e) ML™1T-19"!
ACEA @R AR @0 ? [RUET’12-13]
(a) [MLT"2] (b) [MLT] (c) [MLT=1] (d) [MLT 3] (¢) [MLT*]

FATHE: (a); 991 =9 * §a = [M] x [LT~?] = [MLT 2]

O Tr@ FAlead @Eh? IRUET’11-12]
(a) [ML2T?] (b) [ML™2T?2] (c) [MIL2T~?] (d) [ML™2T"2) (e) [MLT"2]

HAYE: (c); |T] = |F||F|sin®
[T| = [L.MLT"?] = [ML?T"?]

frtee =i TS S fZSg#F eaaa Fage? [RUET’11-12]
(a) Stress (b) Strain (c) Surface tension (d) Acceleration (¢) None
t

FHATY: (a); [EEF wolee = —— ; igfen 7ra1 <=
Sree! edilerEa A |IBUTEX’11-12, KUET?06-07)
(2) [ML™T™?] (b) [ML™'T™7] (c) [ML™1T1] (d) [M~212T-1]

d F__dy MLT? L e P
T () F = nAG =N =2 X g0 = —7— X 7 = ML
35 @ =& @ TYRFCH- [Ans: b] [BUET’09-10]
(a) LT™2 and MLT 2 (b) MLT 2 and ML?>T 2
(c) LT~2 and ML?T 2 (d) MLT~2 and ML2T3

uestion Type-02: 2ifEw1zog ==
Q VI

Formula & Concept:

x a0~ et g3ty ¢ z A 207 e Fane x = ymz" FiHead amn sy Wiy 6 2
sifzrsrtel M FAW HSAT AL T TATFCH £ Sy @92 + 5z T, ©IZH x 9T ALE® T T + 6x |

. TS ey e o, (7) = Iml () + Inl (%

gy o JBXI _ T oA
et @b 6x = — = =
|ax|

WoHal #fo: 6% = — % 100%
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Length of a simple pendulum 1 = 100.0 + 0.5 cm, and time period T = (2.00 + 0.01) s. Determine the

percentage of error in acceleration due to gravity ‘g’ [TUT20-21]

(a) +1.5% (b) +2.0% (c) +1.05% (d) +1.75%

: L_ T L 4m2L
Solution: (a);: T=2nn |- =2 —=-= g =
( ) 11 : o= - 4 =

e 9 =2 al =4[5 g8
= X 100% = T X 100% + 2 xloU%_i(mxmo%nx 2 xmu%)
= +(0.5% + 1%) = +1.5%

Question Type-03: T e, SIfFAE (%, CHLAIN0E @ e

Formula & Concept:

- 2
» (PRI IS [PE, R = %+§)

[QITTH, d = CHATIOE &7 a7 1% g W32 h = &A% “inas oo zre Jererem Swel 91 fAger ]
> CHANIOITER #16 = &4 (&4 *15 (M) + JGIFR (% #1135 (C) x A fef= (K) |
> HB T (@ @R ALY JTOW @ 2T (67 78 O & I NS 57 I

. B o = s

FETF1A CFTAA S AT

a6 F2E INFACR 2A4F FEE TH 999 W 1 mm 932 SIFTE G 10 99 4R GFEE 9 904 799 2

CFTETE SR 33 67 [BUET’09-10]

(a) 0.01 cm (b) 0.0] mm (c) 0.05 cm (d) 0.05 mm
AAA: (a); SR §7F = = =3—i”lu‘-"—= 0.1mm = 0.01 cm

fRF™1: 204 CFLe FEeH | 9 = 1 mm; SRR CHT FUOW | 9= 20" = 0.9 mm
-, SIf iR &9 = 1mm — 0.9 mm = 0.1 mm = 0.01 cm

G0 G WG 2A4F CRER 39 S SINAR CFEa 40 SIOE 97| &A4F CFER OF S0 TH 1.00 mm |
TSI §9F FS7?

(a) 0.010 mm (b) 0.020 mm (c) 0.025 mm (d) 0.100 mm
FAIET: (c); SR CHtea | ST I = :—gmm = 0.975 mm

([KUET’06-07)

- oiffaa #3F = (1 — 0.975)mm = 0.025 mm



